Year 2 Spelling, punctuation and grammar - Answers

Add the correct subordinating {
conjunction to this sentence.

when  that because if

I'm getting wet because it's heavily
raining now.

What type of word is ‘beautiful’ {
in this sentence? Circle one.

The princess had long, beautiful hair.

noun adverb verb

Use two of these words to make Q

three new compound word.
clipboard

headboard

softball

d

Which year 2 common exception
word has Mr Whoops been juggling
with?

prove

Find the hidden words.

table a
apple P
X
bottle r
little W
n
middle i L
bicycle -—t—p—p—ea i t

Use these noun phrases and
your own adjectives to write an
expanded noun phrase in a

full sentence.

Answers will vary.

For example:
He put the sweet, crunchy apple in

the pocket of his scruffy, blue shorts.

N




Maths — Comparing mass

Fluency

ball = watering can @

bunny > car
rubber duck < watering can
rubber duck > car

The duck is the lightest of all. It is lighter than the car and the watering can
(which has the same mass as the ball). The bunny is heavier than the car so
must also be heavier than the rubber duck.

Reasoning

Order the objects from heaviest to lightest: apple, sandwich, yoghurt, @
crisps, biscuit. S =

The second heaviest object is the sandwich.

Three biscuits have the same mass as one apple.




Mastery

5 books have a greater mass than 10 pencils. True
N

1 book has the same mass as 1 pencil. False
20 pencils have less mass than 10 books. True

5 pencils have the same mass as 5 books. False




